

DEFORMATION OF SASAKIAN METRIC AS A YAMABE SOLITON

M. Prabhakar and H. G. Nagaraja

Department of Mathematics, Bangalore University, Jnanabharathi
 560056 Bengaluru, Karnataka, India

ORCID IDs: M. Prabhakar
 H. G. Nagaraja

 <https://orcid.org/0009-0008-2086-8006>
 <https://orcid.org/0000-0003-4057-3615>

Abstract. In this paper, we investigate Yamabe solitons on deformed Sasakian manifolds. We proved that the Yamabe soliton constant is invariant under new deformation of contact manifolds that deforms metric and structure tensor simultaneously. Further, we show that the scalar curvature is equal to the soliton constant and the potential vector field of Yamabe soliton reduces to an affine vector field.

Keywords: deformation, Yamabe soliton, Sasakian metric, projective vector field, affine vector field.

1. Introduction

The notions of Yamabe and Ricci flow were introduced by Hamilton [11] and Yamabe soliton introduced as a tool to produce the Riemannian metric of constant scalar curvature. The evolution of a time-dependent Riemannian or semi-Riemannian metric g defines Yamabe flow by the equation

$$(1.1) \quad \frac{\partial g(t)}{\partial t} = -rg(t), \quad g(0) = g_0,$$

where r is the scalar curvature that corresponds to g . A self similar solution to the Yamabe flow known as Yamabe soliton is defined on a pseudo-Riemannian or Riemannian manifold (M, g) by the equation [1]

$$(1.2) \quad (L_V g)(X, Y) = 2(r - \lambda)g(X, Y),$$

Received March 26, 2024, accepted: June 25, 2024

Communicated by Uday Chand De

Corresponding Author: H. G. Nagaraja. E-mail addresses: prabhakar3769@gmail.com (M. Prabhakar), hgnraj@yahoo.com (H. G. Nagaraja)

2020 *Mathematics Subject Classification.* Primary 53D10, 53D15; Secondary 53D25

© 2025 BY UNIVERSITY OF NIŠ, SERBIA | CREATIVE COMMONS LICENSE: CC BY-NC-ND

for all vector fields X and Y on M , where L_V denotes the Lie derivative with respect to V and λ is a soliton constant. If λ in (1.2) is a smooth function on M then g is referred to as an almost Yamabe soliton. According as $\lambda < 0$, $\lambda = 0$, $\lambda > 0$, Yamabe soliton is shrinking, steady and expanding respectively. Kundu [12] proved that 3-dimensional α -Sasakian manifold (M, g) with g as a Yamabe soliton is of constant curvature and gave an example of such a manifold. Sasakian metric on a 3-dimensional manifold as a Yamabe soliton was studied by Sharma [17]. The notion of Yamabe soliton generalized to quasi Yamabe soliton by Deshmukh and Chen [6]. Suh and De [18] extended the study to almost co-Kähler manifolds and De and co-authors [7–10] extensively studied Yamabe solitons in different contexts such as space time manifolds and para contact manifolds. Several authors [5, 15, 16] studied Yamabe solitons on manifolds with different contact structures. The action of projective vector fields on Riemannian manifolds with contact structures reveals intrinsic properties of the manifolds. Romero and Sanchez [14] studied a projective vector field on the Lorentzian manifold and established some relations between the casual character of projective vector field and curvature in a Lorentzian manifold. Nagaraja and Sharma [13] while studying almost Ricci soliton on D -homothetically deformed K-contact metric established that η -Einstein K-contact metric as an almost gradient Ricci soliton is fixed D -homothetically and the potential vector field preserves the structure tensor ϕ . Bouzir and Beldjilali [4] introduced a new deformation of almost contact metric structure, where the deformation is for metric g and the structure tensor ϕ simultaneously. Beldjilali and Akyol [2] further investigated the above deformation and established relations among different classes of almost contact metrics.

In this paper, we study new deformation introduced by Bouzir and Beldjilali on Sasakian manifold (M, g) with g as a Yamabe soliton and establish conditions for g to have constant scalar curvature. Further, we show that on (M, g) , the projective vector field becomes affine.

2. Preliminaries

A $(2n + 1)$ dimensional C^∞ manifold M together with a 1-form η such that $\eta \wedge (d\eta)^n \neq 0$ is called a contact manifold. There is a global vector field ξ called Reeb vector field or characteristic vector field on M satisfying $d\eta(\xi, X) = 0$ for any vector field X on M and $\eta(\xi) = 1$.

An odd-dimensional manifold M has an almost contact structure (ϕ, ξ, η) , if it admits a tensor field ϕ of type $(1, 1)$, a vector field ξ and a 1-form η satisfying

$$(2.1) \quad \eta(\xi) = 1, \quad \phi^2 = -I + \eta \otimes \xi.$$

From (2.1), it is easy to deduce that

$$(2.2) \quad \eta \circ \phi = 0, \quad \phi\xi = 0.$$

If there is a Riemannian metric g on manifold M with a (ϕ, ξ, η) -structure such that

$$(2.3) \quad g(\phi X, \phi Y) = g(X, Y) - \eta(X)\eta(Y),$$

for any vector fields X and Y on M , then we say that M has almost contact metric structure and $M(\phi, \xi, \eta, g)$ is called an almost contact metric manifold.

It follows from (2.3) that

$$(2.4) \quad \eta(X) = g(X, \xi),$$

for any vector field X on M . A Sasakian manifold is a normal contact metric manifold and an almost contact metric structure (ϕ, ξ, η, g) on a manifold M is Sasakian if and only if

$$(2.5) \quad (\nabla_X \phi)(Y) = -\eta(Y)X + g(X, Y)\xi,$$

for any vector fields X and Y on M . The formula (2.5) implies

$$(2.6) \quad \nabla_X \xi = -\phi X$$

and

$$(2.7) \quad (\nabla_X \eta)Y = -g(\phi X, Y).$$

The following equations hold in a Sasakian manifold :

$$(2.8) \quad R(X, Y)\xi = \eta(Y)X - \eta(X)Y,$$

$$(2.9) \quad S(X, \xi) = 2n\eta(X),$$

where R and S are respectively the Riemannian curvature tensor and Ricci tensor of g .

Definition 1. On a Riemannian manifold, a vector field is called a solenoidal vector field if and only if its divergence is zero.

Definition 2. A vector field V on a Riemannian manifold M with connection ∇ is called a projective vector field if there is a scalar 1-form P -satisfying

$$(2.10) \quad (L_V \nabla)(X, Y) = P(X)Y + P(Y)X.$$

It is to be noted that if $L_V \nabla = 0$, V is called an affine vector field and V is Killing if $L_V g = 0$.

On a $(2n+1)$ -dimensional manifold M with almost contact metric structure (ϕ, ξ, η, g) , a new structure $(\bar{\phi}, \bar{\xi}, \bar{\eta}, \bar{g})$ is defined on M in the form [4]

$$(2.11) \quad \bar{\xi} = \xi, \quad \bar{\phi}X = \phi X + \theta(\phi X)\xi, \quad \bar{\eta} = \eta - \theta,$$

and

$$(2.12) \quad \bar{g}(X, Y) = fg(X, Y) + \bar{\eta}(X)\bar{\eta}(Y) - f\eta(X)\eta(Y),$$

for all vector fields X and Y on M , smooth function f and a closed 1-form θ orthogonal to η on M .

The relation between the connections ∇ and $\bar{\nabla}$ corresponding to the Riemannian metrics g and $\bar{g}$ is given by [3]

$$(2.13) \quad \bar{\nabla}_X Y = \nabla_X Y + \theta(X) \bar{\phi} Y + \theta(Y) \bar{\phi} X - (\nabla_X \theta)(Y) \xi.$$

We give the following result due to Benaoumeur and Gherici [3] for later use.

Remark 2.1. [Lemma 1 of [3]]: Let r and $\bar{r}$ denote the scalar curvatures respectively for the metric g and deformed metric $\bar{g}$, the metric obtained from g under (2.11)-(2.12). Then $\bar{r} = r$.

Throughout this paper, we use $\{e_i\}$ as an orthonormal basis for tangent space $T_p M$, $p \in M$ and its deformed orthonormal basis as $\{\bar{e}_i = e_i + \theta(e_i)\xi\}_{1 \leq i \leq 2n+1}$.

3. Sasakian manifold as a Yamabe soliton under new deformation

Let the metric g in a Sasakian manifold (M, g) be a Yamabe soliton. Then we have

$$(3.1) \quad g(\nabla_X V, Y) + g(\nabla_Y V, X) = 2(-\lambda + r) g(X, Y).$$

We write

$$(3.2) \quad \begin{aligned} g(\nabla_X V, Y) &= \frac{1}{2} [g(\nabla_X V, Y) + g(\nabla_Y V, X)] \\ &\quad + \frac{1}{2} [g(\nabla_X V, Y) - g(\nabla_Y V, X)]. \end{aligned}$$

Using $(L_V g)(X, Y) = g(\nabla_X V, Y) + g(\nabla_Y V, X)$ in (3.2), we get

$$(3.3) \quad g(\nabla_X V, Y) = \frac{1}{2} (L_V g)(X, Y) + du(X, Y),$$

where

$$(3.4) \quad 2du(X, Y) = g(\nabla_X V, Y) - g(\nabla_Y V, X).$$

Using (1.2) in (3.3), we have

$$(3.5) \quad g(\nabla_X V, Y) = (-\lambda + r) g(X, Y) + du(X, Y).$$

Interchanging X and Y in (3.5), the symmetry of g gives

$$(3.6) \quad g(\nabla_Y V, X) = (-\lambda + r) g(X, Y) + du(Y, X).$$

Adding (3.5)-(3.6) and using (1.2), we obtain

$$(3.7) \quad du(X, Y) = -du(Y, X).$$

As du is skew-symmetric, we write using tensor field ϕ of type $(1, 1)$ as

$$(3.8) \quad du(X, Y) = g(\phi X, Y).$$

From (3.5) and (3.8), we get

$$g(\nabla_X V, Y) = (-\lambda + r)g(X, Y) + g(\phi X, Y)$$

or

$$\nabla_X V = (r - \lambda)X + \phi X$$

and so

$$(3.9) \quad \nabla_\xi V = (r - \lambda)\xi.$$

The following lemma proves the invariance of soliton constant under deformation (2.11)-(2.12).

Lemma 1. *Let the Yamabe Soliton $(M, \bar{g}, V, \bar{\lambda})$ be obtained from the Yamabe Soliton (M, g, V, λ) by deformation (2.11)-(2.12). Then $\lambda = \bar{\lambda}$. i.e., the Yamabe soliton constant is invariant under the deformation of Sasakian Manifolds.*

Proof. Let (M, g) be a Sasakian manifold and $(M, \bar{g})$ be obtained by deformation (2.11)-(2.12) of (M, g) . Suppose that (M, g, V, λ) and $(\bar{M}, \bar{g}, V, \bar{\lambda})$ are Yamabe solitons. Then we have

$$(3.10) \quad (\bar{L}_V \bar{g})(X, Y) = 2(\bar{r} - \bar{\lambda})\bar{g}(X, Y).$$

Applying the Lie derivative of (2.12) with respect to V , following the expression for the Yamabe soliton under new deformation, we obtain

$$(3.11) \quad \bar{L}_V \bar{g}(X, Y) = \bar{L}_V f g(X, Y) - \bar{L}_V f \eta(X) \eta(Y) + \bar{L}_V \bar{\eta}(X) \bar{\eta}(Y).$$

Using (2.3) in (3.11), we get

$$(3.12) \quad \begin{aligned} (\bar{L}_V \bar{g})(X, Y) &= V f g(\phi X, \phi Y) + f [g(\bar{L}_V X, Y) + g(X, \bar{L}_V Y) + (\bar{L}_V g)(X, Y)] \\ &\quad - f [\eta(Y) (\eta(\bar{L}_V X) + (\bar{L}_V \eta)(X)) + \eta(X) ((\eta(\bar{L}_V Y) + \bar{L}_V \eta)(Y))] \\ &\quad + \bar{\eta}(Y) ((\bar{L}_V \bar{\eta})(X) + \bar{\eta}(\bar{L}_V X)) + \bar{\eta}(Y) ((\bar{L}_V \bar{\eta})(Y) + \bar{\eta}(\bar{L}_V Y)) \\ &\quad - g(\bar{L}_V X, Y) - g(X, \bar{L}_V Y). \end{aligned}$$

For the unit vector field V corresponding to 1-form θ , we have

$$\theta(X) = g(X, V), \quad \theta(V) = 1.$$

$$(3.13) \quad \text{Also } \theta(\xi) = 0, \quad \eta(V) = 0, \quad \bar{\eta}(V) = -1.$$

Making use of (2.11) and (2.13) in $(\bar{L}_V g)(X, Y) = g(\bar{\nabla}_X V, Y) + g(X, \bar{\nabla}_Y V)$, we obtain

$$(3.14) \quad \begin{aligned} (\bar{L}_V g)(X, Y) &= (L_V g)(X, Y) + \theta(X)g(\phi V, Y) + \theta(\phi X)\eta(X) + \theta(Y)g(X, \phi V) \\ &\quad + \theta(\phi Y)\eta(X) - (\nabla_X \theta)(V). \end{aligned}$$

Differentiation of $g(V, V) = 1$ with respect to X gives $\theta(\nabla_X V) = 0$, which then imply that

$$(3.15) \quad (\nabla_X \theta)(V) = 0.$$

Using equation (3.15) in (3.14), we get

$$(3.16) \quad \begin{aligned} (\bar{L}_V g)(X, Y) &= (L_V g)(X, Y) + g(\phi V, Y)\theta(X) + \eta(Y)\theta(\phi X) \\ &\quad + g(X, \phi V)\theta(Y) + \theta(\phi Y)\eta(X). \end{aligned}$$

Let us take $f = 1$. Using (3.16) in (3.12) and replacing ξ for X and Y in the resulting equation, we can get easily

$$(3.17) \quad \begin{aligned} (\bar{L}_V \bar{g})(\xi, \xi) &= (L_V g)(\xi, \xi) + 2[g(\bar{\nabla}_V \xi, \xi) - g(\bar{\nabla}_\xi V, \xi) - \bar{g}(\bar{\nabla}_V \xi, \xi)] \\ &\quad - 2(\bar{L}_V g)(\xi, \xi) + 4g(\nabla_\xi V, \xi) - 2(\nabla_\xi \theta)(V) + 2(\bar{L}_V \bar{g})(\xi, \xi). \end{aligned}$$

Setting $X = Y = \xi$ in (3.16), we obtain

$$(3.18) \quad (\bar{L}_V g)(\xi, \xi) = (L_V g)(\xi, \xi).$$

Now differentiating $g(V, \xi) = \theta(\xi) = 0$ with respect to ξ and using (3.13), we get

$$(3.19) \quad g(\nabla_\xi V, \xi) = 0.$$

Differentiating $g(V, V) = 1$ with respect to ξ , we obtain $g(\nabla_\xi V, V) = 0$. i.e., $\theta(\nabla_\xi V) = 0$. This with $\nabla_\xi \theta(V) = 0$ gives

$$(3.20) \quad (\nabla_\xi \theta)(V) = 0.$$

Using (3.18), (3.19) and (3.20) in (3.17), we obtain

$$(3.21) \quad (\bar{L}_V \bar{g})(\xi, \xi) = (L_V g)(\xi, \xi) + 2[g(\bar{\nabla}_V \xi, \xi) - g(\bar{\nabla}_\xi V, \xi) - \bar{g}(\bar{\nabla}_V \xi, \xi)].$$

Using (2.11) and (2.12) in (3.21), we get

$$(3.22) \quad (\bar{L}_V \bar{g})(\xi, \xi) = (L_V g)(\xi, \xi) + 2(g(\bar{\nabla}_V \xi, \xi) - g(\bar{\nabla}_\xi V, V)).$$

Expanding $\bar{\nabla}_V \xi$ using (2.13), (3.13) and noting that $\theta(\phi V) = 0$, after simplification from (3.22), we get

$$(3.23) \quad (\bar{L}_V \bar{g})(\xi, \xi) = (L_V g)(\xi, \xi).$$

Using (1.2) and (3.10) in (3.23) and from Remark 2.1, we have

$$(3.24) \quad \bar{\lambda} = \lambda.$$

Proof is completed. $\square$

Theorem 1. *Under the deformation (2.11)-(2.12) with $f = 1$ of Sasakian metric as a Yamabe Soliton, the Yamabe Soliton constant λ is equal to the scalar curvature r .*

Proof. Let the Sasakian manifold (M, g) be Yamabe soliton with V as potential vector field and λ as a soliton constant. We write

$$(3.25) \quad (\bar{L}_V \bar{g})(X, Y) = \bar{g}(\bar{\nabla}_X V, Y) + \bar{g}(X, \bar{\nabla}_Y V).$$

Using (2.1), (2.6), (2.11), (2.12) and (2.13) in (3.25), we obtain

$$(3.26) \quad \begin{aligned} (\bar{L}_V \bar{g})(X, Y) &= (L_V g)(X, Y) + \theta(X)(g(\phi V, Y) - \eta(\nabla_Y V)) + \theta(Y)(g(\phi V, X) \\ &\quad - \eta(\nabla_X V)) - \nabla_X \theta(V) \bar{\eta}(Y) - \nabla_Y \theta(V) \bar{\eta}(X). \end{aligned}$$

Using (2.12) and (3.26) in (3.10), we get

$$(3.27) \quad \begin{aligned} (L_V g)(X, Y) &= 2(\bar{r} - \bar{\lambda}) [g(X, Y) - \eta(X) \eta(Y) + \bar{\eta}(X) \bar{\eta}(Y)] \\ &\quad - \theta(Y)(g(\phi V, X) - \eta(\nabla_X V)) - \theta(X)(g(\phi V, Y) \\ &\quad - \eta(\nabla_Y V)) + \nabla_X \theta(V) \bar{\eta}(Y) + \nabla_Y \theta(V) \bar{\eta}(X). \end{aligned}$$

Substituting e_i for X and Y in (3.27) and using Remark 2.1, we get

$$(3.28) \quad \begin{aligned} (L_V g)(e_i, e_i) &= 2(r - \bar{\lambda}) [g(e_i, e_i) - \eta(e_i) \eta(e_i) + \bar{\eta}(e_i) \bar{\eta}(e_i)] \\ &\quad - 2\theta(e_i) g(\phi V, e_i) - 2\theta(e_i) \eta(\nabla_{e_i} V) + 2\nabla_{e_i} \theta(V) \bar{\eta}(e_i). \end{aligned}$$

We see that

$$(3.29) \quad \theta(e_i) \eta(\nabla_{e_i} V) = g(\nabla_V V, \xi) = g(\nabla_{e_i} V, \xi) g(e_i, V).$$

Differentiating $g(\xi, V) = 0$ along V , we obtain

$$(3.30) \quad 0 = g(\nabla_V \xi, V) + g(\xi, \nabla_V V).$$

Use of $0 = \theta(\phi V) = g(\nabla_V \xi, V)$ in (3.30) gives $g(\nabla_V V, \xi) = 0$. This with (3.29) gives

$$(3.31) \quad \theta(e_i) \eta(\nabla_{e_i} V) = 0.$$

Using (1.2), (3.10), (3.31) and noting that $\theta(\phi V) = 0$ and $\theta(V) = 1$ in (3.28), we get

$$(3.32) \quad (\bar{\lambda} - \lambda)(2n + 1) = (r - \bar{\lambda}).$$

From (3.32) and Lemma 1, it follows that

$$(3.33) \quad r = \lambda.$$

This proves Theorem 1. $\square$

Corollary 1. *Under the deformation (2.11)-(2.12) with $f = 1$, Sasakian metric as a Yamabe soliton has constant scalar curvature.*

From equation (1.2) and Theorem 1, we have

Corollary 2. *Under the deformation of Sasakian metric as a Yamabe Soliton, the potential vector field V is Killing.*

In the following part, we show that the potential vector field is solenoidal.

Theorem 2. *Under the deformation of the Sasakian metric as a Yamabe Soliton, the potential vector field is solenoidal.*

Proof. We now write

$$(3.34) \quad (\bar{L}_V \bar{g})(X, Y) = \bar{g}(\bar{\nabla}_X V, Y) + \bar{g}(X, \bar{\nabla}_Y V).$$

Substituting from (2.13) to (3.34), we get

$$(3.35) \quad \begin{aligned} (\bar{L}_V \bar{g})(X, Y) &= \bar{g}(\nabla_X V, Y) + \theta(X) \bar{g}(\bar{\phi} V, Y) - (\nabla_X \theta)(V) \bar{g}(\xi, Y) + \bar{g}(X, \nabla_Y V) \\ &\quad + \theta(Y) \bar{g}(\bar{\phi} V, X) - (\nabla_Y \theta)(V) \bar{g}(\xi, X). \end{aligned}$$

Taking $X = Y = \bar{e}_i = \{e_i + \theta(e_i)\xi\}_{0 \leq i \leq 2n}$ in (3.35), we get

$$(3.36) \quad \begin{aligned} \sum_{i=0}^{2n} (\bar{L}_V \bar{g})(e_i + \theta(e_i)\xi, e_i + \theta(e_i)\xi) &= 2 \sum_{i=0}^{2n} \{ \bar{g}(\nabla_{e_i + \theta(e_i)\xi} V, e_i + \theta(e_i)\xi) \\ &\quad + \theta(e_i + \theta(e_i)\xi) \bar{g}(\bar{\phi} V, e_i + \theta(e_i)\xi) \\ &\quad - (\nabla_{e_i + \theta(e_i)\xi} \theta)(V) \bar{g}(\xi, e_i + \theta(e_i)\xi) \}, \end{aligned}$$

where $\theta(e_i) = -\bar{g}(e_i, \xi)$, $\bar{g}(\bar{e}_0, \bar{e}_0) = \bar{g}(\xi, \xi) = 1$ and for $i \in \{1, \dots, 2n\}$.

Using (2.12), (3.10) and (3.13) in (3.36), we obtain

$$(3.37) \quad \begin{aligned} 2(\bar{r} - \bar{\lambda}) \sum_{i=1}^{2n} \bar{g}(e_i, e_i) &= 2 \operatorname{div} V - 2 \sum_{i=1}^{2n} \bar{g}(e_i, \xi) \bar{g}(\nabla_{e_i} V, \xi) \\ &\quad - 2(\nabla_\xi \theta)(V). \end{aligned}$$

By Remark 2.1, we get

$$(3.38) \quad (r - \bar{\lambda})(2n + 1) = \operatorname{div} V - \bar{g}(\nabla_\xi V, \xi) - (\nabla_\xi \theta)(V).$$

Using (3.9), (3.24) and (3.33) in (3.38), we get

$$(3.39) \quad \operatorname{div} V = (\nabla_\xi \theta)(V).$$

From (3.20) and (3.39), it follows that

$$(3.40) \quad \operatorname{div} V = 0.$$

This leads to the Theorem 2. $\square$

4. Projective vector field on Sasakian manifold (M, g) with g as a Yamabe soliton

Theorem 3. *Let (M, g, V, λ) be a Sasakian manifold with the metric g as a Yamabe soliton and the vector field V as a projective vector field. If scalar curvature r is constant along ξ , then M has constant scalar curvature and the vector field V reduces to an affine vector field.*

Proof. Let the metric g be a Yamabe soliton. Then

$$(4.1) \quad \frac{1}{2}(L_V g)(Z, X) = (r - \lambda)g(Z, X).$$

Differentiating (4.1) on both sides covariantly with respect to Y , we have

$$(4.2) \quad \begin{aligned} \nabla_Y (L_V g)(Z, X) &= 2\nabla_Y ((r - \lambda)g(Z, X)) \\ &= 2(Yr)g(Z, X) + 2(r - \lambda)(g(\nabla_Y Z, X) + g(Z, \nabla_Y X)) \\ &= 2(Yr)g(Z, X) + 2(r - \lambda)g(\nabla_Y Z, X) + 2(r - \lambda)g(Z, \nabla_Y X) \\ &\quad - (L_V g)g(\nabla_Y Z, X) - (L_V g)g(Z, \nabla_Y X). \end{aligned}$$

Using (1.2) in (4.2), we get

$$(4.3) \quad (\nabla_Y (L_V g))(Z, X) = 2(Yr)g(Z, X).$$

We make use of $\nabla g = 0$ in the commutation formula [19],

$$(L_V \nabla_Y g - \nabla_Y L_V g - \nabla_{[V, Y]} g)(Z, X) = -g((L_V \nabla)(Y, Z), X) - g((L_V \nabla)(Y, X), Z),$$

to obtain

$$(4.4) \quad (\nabla_Y (L_V g))(Z, X) = g((L_V \nabla)(Y, Z), X) + g((L_V \nabla)(Y, X), Z).$$

Using (4.3) in (4.4), we obtain

$$2(Yr)g(Z, X) = g((L_V \nabla)(Y, Z), X) + g((L_V \nabla)(Y, X), Z).$$

As V is a projective vector field, the above equation with (2.10) gives

$$(4.5) \quad 2(Yr)g(Z, X) = g(P(Y)Z + P(Z)Y, X) + g(P(Y)X + P(X)Y, Z).$$

Substitution of e_i for X and Z in (4.5) gives

$$(4.6) \quad P(Y) = \frac{(2n+1)(Yr)}{2(n+1)}.$$

Substituting ξ for X and Y in (4.5), we get

$$(4.7) \quad P(Z) = (2(\xi r) - 3P(\xi))\eta(Z).$$

Replace Z by ξ in (4.7) to get

$$(4.8) \quad P(\xi) = \frac{1}{2}(\xi r).$$

If r is constant along ξ , then

$$P(\xi) = 0.$$

Now (4.7) gives

$$(4.9) \quad P(Z) = 0.$$

Thus from (4.9) and (4.6), it follows that $Xr = 0$, i.e., r is a constant.

Also $P(X) = 0$ in (2.10) gives $(L_V \Delta)(X, Y) = 0$, which makes V an affine vector field. $\square$

REFERENCES

1. E. BARBOSA and E. RIBEIRO JR.: *On conformal solution of the Yamabe flow*. Arch. Math. **101**(1) (2013), 79–89.
2. G. BELDJILALI and M. A. AKYOL: *On a certain transformation in almost contact metric manifolds*. Facta Universitatis, Series: Mathematics and Informatics **36**(2) (2021), 365–375.
3. B. BENAOUMEUR and B. GHERICI : *Ricci solitons on Sasakian manifolds under a new deformation*. Bulletin of the Transilvania University of Brasov. Series III: Mathematics and Computer Science **1**(63) (2021), 15–28.
4. H. BOUZIR and G. BELDJILALI: *Kahlerian structure on the product of two trans-Sasakian manifolds*. Int. Electron. J. Geom. **13**(2) (2020), 135–143.
5. A. BURCHARD, R. J. MCCANN and A. SMITH: *On a certain transformation in almost contact metric manifolds*. Facta Universitatis, Series: Mathematics and Informatics **18**(5) (2008), 65–80.
6. B. Y. CHEN and S. DESHMUKH: *Yamabe and quasi-Yamabe solitons on Euclidean submanifolds*. Facta Universitatis, Series: Mathematics and Informatics **15** (2018), 1–9.
7. K. DE and U. C. DE: *δ -Almost Yamabe solitons in paracontact metric manifolds*. Mediterr. J. Math. **18**(5), 218 (2021).
8. K. DE, U. C. DE and A. GEZER: *Perfect fluid spacetimes and k -almost Yamabe solitons*. Turk J Math. **47** (2023), 1236–1246.
9. U. C. DE and S. K. CHAUBEY: *Perfect fluid space times and Yamabe solitons*. J. Math. Phys. **62**, 032501 (2021).
10. U. C. DE and Y. J. SUH: *Yamabe and quasi-Yamabe solitons in paracontact metric manifolds*. Int. J. Geom. Methods Mod. Phys. **18**(12), 2150196 (2021).
11. R. S. HAMILTON: *The Ricci flow on surfaces, Mathematics and general relativity*. Contemp. Math. **71** (1988), 237–261.
12. S. KUNDU: *On Yamabe Soliton*. Irish Math. Soc. Bulletin **77** (2016), 51–60.

13. H. G. NAGARAJA and R. SHARMA: *D-homothetically deformed K-contact Ricci almost solitons*. Results in Mathematics **75**(3), 124 (2020).
14. A. ROMERO and M. SÁNCHEZ: *Projective vector fields on Lorentzian manifolds*. Geometriae Dedicata **93** (2002), 95–105.
15. S. ROY, S. DEY and A. BHATTACHARYYA: *Some results on η -Yamabe Solitons in 3-dimensional trans-Sasakian manifold*. arXiv preprint arXiv:2001.09271, (2020).
16. S. ROY, S. DEY and A. BHATTACHARYYA: *Yamabe Solitons on $(LCS)n$ -manifolds*. Journal of Dynamical Systems and Geometric Theories **18**(2) (2020), 261–279.
17. R. SHARMA: *A 3-dimensional Sasakian metric as a Yamabe soliton*. Int. J. Geom. Methods Mod. Phys. **9**(4) (2012), 1–5.
18. Y. J. SUH and U. C. DE: *Yamabe solitons and Ricci solitons on almost co-Kähler manifolds*. Canad. Math. Bull. **62**(3) (2019), 653–661.
19. K. YANO: *Integral formulas in Riemannian geometry*. Marcel Dekker **Vol. 1** (1970).